H & 0l & AHS B Ml A

=2dsgglh
=83 datEH Orxgd
Ee AASE 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BN 14,119,300 16,942,293 A2,822,993
= 5,411,750
= 7,807,550
CH 900,000
35 dEFH JRlgd 2,417,700 3,358,353 A940,653
= 6,750
Ea 2,410,950
Aot d2d A2l 2,417,700 3,358,353 N940,653
=S 6,750
s 2,410,950
=33 2 & 243 200,000 200,000 0
201 et 3| 150,000 200,000 50,000
01 AtR2tc|bI 150,000 200,000 /50,000
O=g8z S0i8 82 180,000
308 AtXIEMSO0IE 50,000 0 50,000
18 SIS0t 4 A A A 50,000 0 50,000
O=3s S04 82 50,000
Hol2 29 X A (HEAY) 9,000 0 9,000
= 6,750
[Ea 2,250
201 er2 3| 8,000 0 8,000
=S 6,000
s 2,000
01 AtR2tc|Hl 8,000 0 8,000
Oxcld 28 23 7 8,000
[ 6,000
Ea 2,000
301 EtE NS 1,000 0 1,000
= 750
o 250
14 JIEt 2 a3 1,000 0 1,000
O&clZ e 28 K& 1,000
= 750
o 250
=35 =diE =7A2L 290,000 412,000 122,000
101 e124d| 40,000 107,000 267,000
M ORNZZ2NSE S 40,000 107,000 267,000
O=dz SsoHd 22l 28 29 40,000
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
O=ds 222 822 MH 5,000
401 AIEHIX S0 245,000 300,000 /55,000
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SN SHSHYD
N 2x5 MEZE I 75
el dEj2rEXE OHE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 1,300,000
401 AIEHIX 20 5,605,000 6,330,000 725,000
=S 4,305,000
s 1,300,000
01 AlZ8| 5,605,000 6,310,000 A705,000
ON2I| 8&1Z 2R/ XY Z&A 5,345,000
< 4,305,000
Ea 1,040,000
ORAEE HOYAE A 260,000
S H2FAE dY & AAHES ZHAY 1,200,000 2,120,000 /920,000
401 AIEHIX R0 1,200,000 2,120,000 920,000
01 A28l 1,200,000 2,110,000 910,000
OddZ ZRANY Y & HAAEZ &
At 1,200,000
=32 dE2E NEHEA 273,000 558,000 285,000
201 2= 23,000 3,000 20,000
01 AtR2t2lt] 14,000 3,000 11,000
OdEINZE 2T = 2,000
OdEINY HRFA Al 12,000
2 s5=44l 9,000 0 9,000
OdEE gf=d SE5=23H| 9,000
401 AlZHIZ SO 250,000 565,000 A305,000
01 AlZ8| 250,000 555,000 A305,000
2SN HSHZ NSSHAE 200,000
OXitctd OIZEHE LAY JIZ2HE
+eg 50,000
Atctd SH 2t KHOHE ALY 1,260,000 200,000 1,060,000
= 600,000
Ea 660,000
401 AIEHIX R0 1,260,000 200,000 1,060,000
=S 600,000
s 660,000
01 AlZ28| 1,260,000 200,000 1,060,000
OXtetd S| 2t TH2IHE AL 1,260,000
< 600,000
[Ea 660,000
=2ds oy d2xd 2,200,000 2,800,000 600,000
=S 500,000
s 1,700,000
J5de MEIE 28 2,200,000 2,800,000 600,000
== 500,000
[Ea 1,700,000
Sqs REMU=sZ ZEMSE 1,200,000 1,800,000 A600,000
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SN SHSHUD
B SHS Ao ABEK
el SFSHA MEIE 28 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,200,000 1,800,000 600,000
01 Al&H| 1,200,000 1,795,000 /595,000
O=ds RFHU=sZ =8 1,200,000
SO0E NS SSAS(HEALY) 1,000,000 1,000,000 0
= 500,000
o 500,000
401 AlZHIZ SO 1,000,000 1,000,000 0
== 500,000
o 500,000
01 Al&HI 1,000,000 1,000,000 0
OS0ld dEHS3 22Ar 1,000,000
< 500,000
= 500,000
SAAE FeEd ddHd 1,128,500 1,541,500 A413,000
= 228,500
CH 900,000
838 AN&ed 3ol 207,000 128,000 79,000
UEA FE FR 2 138,000 88,000 50,000
401 AIEHIZ R 0HYI 138,000 88,000 50,000
01 Al&HI 138,000 88,000 50,000
OR4E8H FHIS 2=3At 98,000
O=AE HAE+SA 40,000
el =8 2 69,000 40,000 29,000
201 er2 3| 9,000 10,000 21,000
01 AtR2te|HI 9,000 10,000 A1,000
O=g2l =y 9,000
401 AIEHIZ SR OHYI 60,000 30,000 30,000
01 Al&HI 60,000 30,000 30,000
o2l ¢zl 60,000
SULHFHI L 921,500 1,413,500 492,000
s 21,500
CH 900,000
B A S I ALS 921,500 13,500 908,000
[Ea 21,500
CH 900,000
101 @12A4H| 12,400 12,400
04 JIZtN22 XS 2+ 12,400 12,400
Osty 2atd Jaxd Al |X2e] 92
o 12,400
201 2= 2,100 1,500 600
01 AtR2t2lt] 600 0 600
Osty zatd d2xd 2l =X ZH
URIZ 600
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